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Instructions :
(i)  All questions are compulsory to solve.
‘(i) Question Nos. 1 to 5 are objective type questions which contain - Choose the -

correct answer, Fill in the blanks, Match the columns, True/False and Give answer
in one word / sentence. Each question 1s allotted 5 marks.
Question Nos. 6 to 10 are very short answer type questions, each carries 2 marks,

(iii)
the word limit is 30 words. :
(iv) Question Nos: 11 to 14 are short answer type questions, each carries 3 marks, -

the word limit is 75 words.http: //www.mpboardonline.com
(v)  Question Nos. 15 to 21 are long answer type questions, each carries 4 marks,

: the word limit is 120 words. : :
- (vi) Question Nos. 22 to 26 are very long answer type questlons each carries 5 marks,

the word limit is 150 words
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Choose and write the correct options :
(1) Macro economics focuses on all of the following except :
(a) Unemployment problem (b) Money inflation in Economy

(¢) Aggregate Demand (d) Jute Industry

(ii) Congumption of every additional unit of commodity brings utility -
(a) Diminishing (b) Increasing
(¢) Remains constant (d) Zero

(i1i) The ratio of exchange between two goods in indifference curve analysis
is shown by -
(a) The price line (b) The indifference curve
(¢) The indifference map  (d) All of the above

"(iv) ‘Which of the following is an example of complementary goods ?

(a)/‘Tea and Coffee (b) Coke and Pepsi

(c) Rice and Wheat - (d) None of these
(v) Expansion in demand occurs due to - )

(a) Rise'in price of the given commodity

(b) “ Fall in price of the given commodity

fE) Rise in price of substitute goods

(d) Falliin price of complementary goods
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Fill in the blankg :

(i) There are _ means of production.

(ii) Average revenue is also called as ' of commodity.-

(iii) Supply of a commodity is a part of its |

(iv) The law of supply does not apply to con‘;mod'ifieé'f )

(v) The price of a commodity is fixed at a point where demand for a

commodity is ___ to supply of a commodity.
3w SR | . 1x5=5
R - | a - .
(a) & B AT B HET (@) 1935 ]
(b) =&g @ qff & dEm (i) & ofufrm, 1949
(c) Wrﬁﬁﬂﬁﬁﬁ%ﬁw_ﬂﬁﬁ (i) =maiE ¥
fear & _ \
(d)éﬁimﬁweﬁm% (iv) o%g & @d W
(¢) wHMEY WHT HTA (v) =im &% Fram 9
Match the columns : - '
A B
(a) Relationship of demand for a (i) 1935 3}’
| commodity |

(b) Relationship of supply of ) (i1) Banking' Act, 1949
- a commodity .
() The Reserve Bank of India (i) Commercial- Banks
: started
- (d) Banks are regulated by (iv) By cost of commodity
() Accepting public deposits  (v) By law of demand
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Write True/False :

(i) The increase in population does not at all affect the per Lapita

income.
(i) Net national product is called aggregate supply.
(iii) Autonomous investment has no relation with national income.

(iv) The theory of employment of Keynes is also called demand
deficiency theory.

(v) Full employment never means zero unemployment.
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Answer the following questions in one word/sentence : ¢
(i) Who presents the government budget ? : :_-\--a ({ n
(i) What do you call the price of country’s currency in terms of’ the price
of other country’s currency %
(iii) Of which is balance of trade a part 7
(iv) What is meant by deflation ? i
(v)  Why is exchange control policy adopted ©

6 oo Y@y w37
What is budget line ?

s [ OR
T 9% W MY wr wHeE B 7

What do you mean by a normal good ?
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When do we say there is excess démand for a commodity in the market ?

Explain.
sl [ OR

maﬁm%ﬁﬁwﬁﬁﬂﬁﬂﬁﬁ)ﬁmwg?w@|
When do we say there is excess suppl:’.ffor a commodit;} in the market ?
Explain.
g /" wmiert wRdREr ey wed E7
What is meant by monopolistic competition ?
e | OR
oot Rwifiar & @@ aneE ¥ 7

What do you mean by perfect compefition ?

TEE g @ N S ® 7
What is meant by National Income *
s | OR

Hepd T SR ° F1 S &7
What is meant by Gross Domestic Product ?

10 oz @ fagioad IRy
State characteristics of the Budget.

arrar | OR

u % g ¥ ’N INE T
What is meant by Deficit Budget ?

11 Wﬁ-mwlwﬂm#%wﬁmﬁwWﬁ 3
& 2l -

What do you mean by complement
which are complements of each other.

Fyar [ OR
“wﬁqmﬁmﬁ”ﬁmwmﬂ?f%?

What do you mean by “Monotonic preferences”
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What is inferior goods ? Give examples. (any three)

3@ | OR
IUHTET S9! GHAEY |

Explain the consumer’s Budget.

Th AT % AW SO qU g SR & drg a9y WAHRS 3
Explain the relationship between the marginal products and the
total product of an input.

o sy /| OR
AT Wi e &1 frem @ ¥ 7

What is the law of diminishing marginal product ?
' I Al

g fafma gt w7 seE @ o £ 7 3
What is a barter system ? What are its drawbacks ?

syt /| OR '
Frauifie 6 & At &1 AUl ST

- Explain the functions of a commercial bank.
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What do you understand by normative economic analysis ?

' | s | OR "
Haldhd s Aday] g g ddear & 99 @ ww sifag)
Distinguish between a centrally planned economy and a market
cconomy. http:;’,fwww.mpboardonline.gom

preqeerel ¥ U BH @1 gfd @ @ il @ 7 | 4
What is the supply curve of a firm in the short run ?

s /| OR
Tt Ui yfaedt st @ @ fageand ¥ 2

What are the characteristics of a perfectly competitive market ?

JUET & U BD IA-dF q TP o W ¥ wdw & qiiEhis @ 4
T BES 7 | | :
What are the four factors of production and what are the remunerations
to each of these called ? _

Jqyar /| OR
forell 291 % e & Frisids & w9 F GBO Wi @R B B Gel @ R
Write down some of the limitations of using GDP as an index of welfare |
of a country.
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What are the functions of money ? Explain any four. |
s | OR |
-H’W%Wgﬂﬁq‘hﬂ%?%ﬁaﬁawﬁww
H ug fbe yer Hdfua ¥7

d for money ? How is it related to the value

“What is transaction deman
?

of transactions over a specified period of time

19 i s waR Ry gy 7 € B ww deia 9@d w3 @
Hafaa &7
What is marginal propensity to consume 9 How is it relate
propensity to save ?

d to marginal

sy /| OR
Raealiiar ¥ fQETE @ rer e |

Explain ‘Paradox’ of thrift.

_ o = e §etmd = A ATl
Distinguish between revenue expenditure and capital expenditure.
spar | OR
Hﬁaﬁiﬁa@mﬁamﬁmﬂaﬁaﬁa&qaﬁ ? =rEr B |
Why public goods must be provided by the government ? Explain.

lﬁﬁmfaﬁwwaﬁ?aﬁaﬁ?ﬁﬁﬁmaﬁﬁaaﬁﬁﬂmuﬁmm 4
| aﬁaw&l&sﬁaﬁaﬁ%éﬁaﬁﬁsﬁaﬁr@ﬁﬁwﬁvﬁ_m%?ﬁaﬁﬂ
ﬁrﬁmmﬁ?wﬁm1

Distinguish between the nominal exchange rate and the real exchange
rate. If you were to decide whether to buy domestic goods or foreign
goods, which rate would be more relevant ? Explain.

st /- OR
wﬁmﬁwﬁﬁﬂmﬁ%@%aﬁﬁmw@ﬁﬁ
ey @ & fag fe €7

Discuss some of the exchange ratc arrangements that countries have
entered into to bring about stability in their external accounts.

331 ]/ E-827 7 (TR e




22

23

4

IE @ B W A B AR wy Ol 27 aneEd)
Why the budget line is doan@d sloping ? Explai'n.

7T | OR
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Explain factors determining théiﬁrice elasticity of demand.

Tt g frem arp B % e geeEd |

Explain causes of the opcratio@ibf ‘Law of Diminishing Returns.

wfa | OR | ’
aﬂaaaﬁmaaﬁ?smﬁ@m%?@&maﬁ&@m%?

What does the average fixed cost curve look like ? Whjf does it look so ?

qET Hged D ARAT BT |
Explain market equilibrium.

o | OR

C

5
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>
If the price of a substitute (Y) of>good (X) increases what impact does

it have on the equilibrium pri(‘fé_.fand quantity of good X ?

T S & A6 & GHIE|
Explain the significance of National Income.
w4 | OR
NI A T o A g & arol @ we

Pxplain the causes of slow grawth of National Income in India.
|

UF o Ul wad ¥ TN @ weengd

Explain merits of a good money: material.
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Explain — Evils of Money,
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